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Hiectrical Engineering

Q1) In a series RLC circuit that is operating above the resonant
frequency, the current : -

a) lagstheapplied voltage p

b)  leadstheapplied voltage

¢) isinphasewiththe apphed voltage

d) iszero

ey

Q2) One sine wave has a positive — going zero crossing at 15° and another
sine wave has a positive — gomg zero crossing at 55°. The angle
between the two waveformsis:

a) 0° b)  45° ¢  40° d)  Noneoftheabove

Q3) If the rms voltage drop across a 15 kQ resistor is 16 V the peak

current through the resistoris: -
a) 15mA b) 1.5mA ¢ 10mA d 1mA

Q4) Boosters are basically: -
inductors b}  capacitors
¢)  transformers d synchronous motors

5) The effective resistance of a conductor will be the same as ohmic
resistance when : -

a)  currentisintrue sine waveform

b)  voltageislow

¢/ power factorisunity

d)  currentis uniformly distributed in the conductor cross-section

L
o

§B8) Which of the foliowing cireuit breakers is preferred for wHY
application: -

a)  Airblastcircuit breakers

b)  Minimum oil circuit breakers

¢)  Bulkoil circuit breakers il

d)  SF,oilcircuit breakers )

| Frcc 2 g
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Q7) Find the Thevenin equivalent (Vm and Ry,) between terminals Aand B of

the cireuit given below ! - n
880
R2
. 1000 i
ik e vTH

it B
a) 4.18V,120Q = b)  41.6V,120Q
c) 4.16V,70Q d 41.67V,70Q

Q8) The function(s) of pole shoes in DC machineisfareto: -

a) Support the field coils

b) Reduce thereluctance of the magnetic path

¢) Spread out the flux to achieve uniform flux distributionin the air gap
d Alloftheabove. :

Q9) Acapacitor start, capacitor run single phase induction motor is basically

a:-
a) acseries motor b) dc series motor
¢) 2phaseinduction motor d)  3phaseinduction motor

Q10) Which single phase ac motor will you select for record players and tape

recorders ?
a) Hysteresis motor b)  Shaded pole motor
¢) Reluctance motor d)  Twovalue capacitor motor

Q11) A220 Qresistorisin series with a 2.2 uF capacitor. The time constantis:
a) 48p, b)  480p, + o 242y d 242y,

Q12) The silicon-controlled rectifier can be turned off: -
a) by anegative gate pulse

b) by forced commutation

¢) withthe offswitch

d) when the breakover voltageis exceeded
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produces what is called the : -

3V ——

a) 3V b) - 2.3V © 0V d 6V
6%16) What causes the piezoelectric effect ?
a
¢)  water running oniron d)  amagneticfield
two base leads
one emitter lead

¢} twoemitter leads and one base lead
d one emitter lead and two base leads

(%17) UdJT has:-
a
by

representsthe: - .
\ o . “ .
4/ mimmum current gain b) quiescent point
¢)  saturationpoint 4 cuteffpoint

mode -

Constant power mode
Constant torque mode
¢} Constant slip mode

d)  Variable power and variable torque mode

Y]
b

Q13 The change in value of an analog signal during the conversion process

a)  quantization error b)  resolutionerror

o) Nyquisterror d)  samplingerror

(%14) What is the moving part of a linear variable differential transforme.?
a)  Primary b)  Diaphragm

©  Secondary d)  Core

Q15) The peak inverse voltage (PIV) for the diode in the given circuit equals-

heat or dissimilar metals b)  pressureona crystal

Q18) Three different points are shown on a dc ioad line. The upper point

Q19 In a variable speed induction moter derive V/f kept constant over a wide
range of its frequency variation. The motor overates in the following

R
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c) alternator

Q20) For a second order system 2d’y / dt* + 4 dy/dt + 8y = 8x, what is the
dampingratio? )
a) 0.1 b 0.25 ¢ 033 d 05

Q21) An 8 pole lap wound DC shunt generator is supplying 295A to a load.
The field current of the generator is 5A. The current per parallel path

isi-

a)  300A b)  200A 0 150A &  37.5A
Q22) Which of the following is not an electromagnetic device ?

a) Hailltransducer b)  Transformer

¢}  Speedometer d)  Eddycurrent damping device

Q23) Number of fundamental cut-sets of any graph willbe: -
a)  Same as the number of twigs

b)  Same asthe number of tree branches

¢)  Sameasthe number of nodes

d) Equaltol

Q24) An electriccurrentisthe: -

a)  Random movement of electronsin a conductor

b Movement of free electrons predominately in one direction
¢)  Pressuredifference between two poles

d)  The power that causes drift of electrons

Q)25) Acurrent is said to be alternating when it changesin: -
a)  Magnitude only b)  Directiononly
¢)  Bothmagnitude and direction d  None

Q28) The direction cf current in an accircuit -
a)  Isfrom positive to negative

b)  Tsalwaysinone direction

¢! Variesfrcminstanttoinstant

d}  Carnotbe determined

1

Q‘27') Fleming's left hand rule is applicable to:-

de motor
transformer

dc gemerator
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28) The generator develops an electric power hy -
a)  Conversion of heat b)  Conversion oflight
c) Electro-magneticinduction- = d) Conversion of chemical energy

Q29) The frequency ofa voltage at the secondaryis: -

a)  greaterthanthat of primary b)  equaltothatof primary g
¢)  lessthanthatof primary d)  noneofthe above

Q30) An example of solid state deviceis:-

a)  Zenerdiode b)  triode

¢) pentode o d) - -thyratron

Q31) Ratings on a capacitor are given 25 uF, 12 V. Also a plus sign is written
near one of its terminals. The capacitoris:-

a)  Mica capacitor ‘ b)  Ceramiccapacitor -

©  Electrolytic capacitor d)  Papercapacitor

(%3 2) The disadvantages of renewable source of energyis/are:-

a)  intermittency b)  lack of dependability
¢ availability in low energydensities d)  alltheabove

%33) Which of the following power plants is the most reliable: -

a)  Diesel b)  Hydro-electric
¢ Steam ' d)  Tidal

Q34) Transmission lines connect : -

a)  Generatin g station to a switching station / step down transformer
station

b)  Step down transformer station to service transformer banks

¢)  Distribution transformer to consumer premises

d)  Service points to consumer premises

Q35) A3vhase 4 wire system is commonly used for: -
a)  Primary distribution b)  Secondary distribution
¢)  Primarytransmission d) Secondary transmission

Q36) Which of the following is usuall ynot the generating voltage : -
a  BE8KV B 1KY ¢ 123KV d} 182KV
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Q37) The highestt

ransmission voltagein Indiais:-
a) T50KV b)

400KV ) 220 KV d) 132KV

Q38) DC motors are still preferred for usein: -
a)  Electric excavators steel mills and cranes
b) Lathes and machine tools

¢)  Flour mills and jaw crushers

d) Paperindustry

Q39) The absolute measurement of resistance involves the measurement

of:-
a) Lengthandtime b}  Lengthand mass
c)  Velocity d)  Either(a)or(c)

Q40) Open loop control system is one in which the control action : -
a) Dependsontheinput signal |

b) Isindependent of the desired output

¢)  Dependsonsystem variables

d)  Dependsonsystein size

Q41) Electrical appliances are not connected in series, because: -
a) Powerlossismore

b)  Seriescircuitis complicated

c¢)  Appliances have different current rating

d)  Neneofthese

42) The insulation resistance of earth of an installation should be nearly : -

a)  0.1Mohin b 0.2Mohm < C.5Mchm o) 1M ohm

43) The unit of illuminationis:-
a)  amperes b Tumens o) Tny d) randala

b)  voltage alone
¢ &} noneofthese

Q45) During a short —circuit test. the iron losses are negligible, because : -
a/  autual i i b currentis high

) power factor i low

none of these
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Q46) A transformer has maximum efficiency at % full load. The ratio of its

. ironlosses and tull load copper loss is : -
a)  16/9 b)  4/3 ¢ 3/4 d 9/16

Q47) If the field circuit resistance of a d.c. generator exceed its critical value,
then the generator: - -

a)  failstobuildup .

b)  builds upa very high voltage

¢)  exceedsitscurrent capacity )

d)  produces power beyond its rating

Q48) The number of parallel path’srin the armature ‘winding of a 4-pole,
wave connected d.c. machine having 28 coil side is : -
a) 28 b) 14 ¢ 4 d 2

Q49) If shunt generator delivers 100 A at 200 V, and the resistance of the
shunt field and armature are 100 ohm and 0.01 ohnr respectively, the
generated e.m.f. will be: -

a) 212V b) 205V e) 210V d  201.02V

(%50) The back e.m.fof a motor at the moment of starting : -
a)  zero b)  maximum ¢) minimum d)  optimum

Q51) Ina d.c. series motor, the torque developed is 20 Nm at 10 A, Ifthe load
current is doubled, the new torque will be : -
a)  B60Nm b)  45Nm ¢ 80Nm d  100Nm

5%52) At slip equal to infinity, the torque of a three phase induction motoris :-
a)  zero b)) verysmall ¢ high d)  veryhigh

G557 Whnen a synchronous motor is started, the field winding is initially : -
a)  excitedbyad.c. sources

b} shorteircuited

¢)  opencircuited

Y

@/ noneofthese

954) AMOSFET has how many terminals : - N
al  Zor3 b) 3 ) 4 d 3o

=1
=

-
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Q55) In the given circuit, what will the voltage be across R, when after 25 us
the switch is moved to position 2 ?

a)  2.88V b) 5.9V ¢) 8.34V d 14V

56) Which two values are plotted on a B-H curve graph : -
a reluctance and flux density

b permeability and reluctance

C magnetizing force and permeability

d) fluxdensity and magnetizing force

polesin the left half of the s-plane
zeros in theleft half of the s-plane
p(l)les in the left half of the s-plane and zeros in the right half of the s-
plane

d)  no poles and zeros in the right half of the s-plane or on the jw — axis
excluding origin.

(%57} Aminimum phase transfer function has: -
a
b)
c)

Q58) After the first time constant, a transient current has changedby .. .....
................ %leaving..,............% remaining.
a) 632,368 b 368632 ¢ 135865 d 86.5135

@59) The total inductive reactanceis................. in the given circuit.

~ -«

EI EL* E;mhl
& 35kQ b 44k0 o 163kQ 4 233k0
©60) What kVA rating is required for a transformer that must handle a

maximum load current of 8 Awith a secondary veltage of 2kV?
a)  4kVA b 0.25kVA ¢ 18kVA 4} 8kVA
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GENERAL KNOWLEDGE

Q61) SunTempleissituatedat:-
a)  Haridwar _ b)  Vrindavan
c) Kanyakumari d)  Konark =

Q62) The first Railway linein India was started in : -

a) 1828 b) 1835

¢) 1853 : d) 1883

Q63) Bhopal disaster was the result of: -

a)  Collapsing of a dam b)  Greatfire

¢)  Plagueepidemic d)  Leakageofgas

Q64) Which of the following countries is not a member of the SAARC
countries ?

a)  Bangladesh b)  Afghanistan

¢) . Pakistan d)  Nepal

Q65) Mailika Sarabhai is associated with which of the following fields : -

a)  Social Service b)  Classical Music

c) Classical Dance d)  Sports

Q66) Who wrote the book “Discovery of India™?

a)  Mahatma Gandhi b)  Dr.RajendraPrasad

c) Jawaharlal Nehru : d) R.K.Narayan

Q67) India'sfirst satellite launching station islocated at:-

a)  Chennai b)  Ahmedabad

c¢)  Thumba d)  Sriharikota

Q68) Which of the following is the smallest city (area wise) in the world —
a)  Cuba b)  Japan =
) Grenoila d)  Vatican City State
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Q69) InIndia, Teacher's Dayiscelebratedon:-

as November.14 b) Jdanuary 30
c) September 5 d)  October10
Q70) People from which state celebrate their harvest around Makar
Sakranti:- ‘
. | @  AndhraPradesh b)  Kerala
N e Karnataka d Bangalore

Q71) Complete the number series by choosing the correct alternative :
Series:1,2,4,7,11,16,.......
a) 20 b)----21 g =22 d 24

Q72) The numbers in the following squares are filled on the basis of some
rule or analog. Complete the blank square by choosmg the correct
number from the alternatives : -

9[2]4
361116
| 25| 49 25
: a2 b) 3 ¢ 66 d 64
Q72 Ifin a code GATE iz written as ICVC, how can RAT will be written in
that code : -
a) ucv b) QZS c) TCV & SBU
Q74) Doctor: Diagnosis:: Judge:?
a)  Court b)  Punishment «¢) Lawyer d) Judgement
Q75) Choose the odd man out : - _
a/ Physies b} Chemistry

Q76) Ifin certain code the word HAT is written as 29, what will be the code
forRAT?

|

]

[

% c) Botany d)  Biology
l

f &) 40 b 30

d} 37
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Q77) Find the odd one ou -
al 13 "b) 81 ") a7 & 1i7

Q78) If 'b' says that his mother is the only daughter of'a's' mother. Howis'a'
relatedto'h' ?

a)  Son b)  Father

¢ Maternal uncle ‘ d)  Grandfather >

Q79) Select the one which is different from the other three : -
a)  Week b)  Month
¢)  Fortnight d)  Session

32
a) 15 b) 52 c) 128 d 512

Q80) Fill in the blank insguare -

ENGLISH

Directions (Q 81-85): Read the passace given below angd comiplete the
statements that follow with the help of given options.

Ranji woke up atdawn. It wag Sunday. His examination was only two
weeks away. He should have been studying. He had other things on
mind. He wanted to play one or two games of cricket before he sat
down for studying. He was in no meod to study history or algebra. “
want to be a cricketer when | grow up. Maths or history will be of no
use to me.” His mother was a cricket fan “You will need maths to
calculate your batting averages and you may become part of history
oneday,” she said.

&81) Ranji woke L2 b -
a)  before the sun had risen b) asthesunrose
¢) lateinthe morning dl whenhis mothe, called him

Page 12
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Q82)
a)
9

Q&3)
a)
9]

He woke up at dawn because. .. ., e

he wanted to study, ) b)  hewantedtopray

hehad to go to school b)) he wanted to play cricket
Theother thingonhismindwas............ A

one or two games of cricket b) to study history

to study algebra d his mother's love of cricket
He did not want to study history because................

heloved to study algebra .

he had nointerestin history

he wanted to become a cricket player
his mother was a cricket fan

Even a cricket player needs mathsto................
calculate his batting averages

calculate the fee he gets for playing

calculate the daily expensesin his life

become part of history

Directions (Q 86 — 90) : Complete the sentences given below with the
belpofoptions that follow each sentence.

Honestyis................ best policy.

a B an ¢ the d)  noarticle
L T (TR rupee for you.

a b) an ¢ the d)  noarticle
Sheisveryfond................ me.

on b) of c) in d)  the
Tamunanswerable................ my officer.

with by into ¢ of d o
Thecarran................ anolddog.

on W into ¢ over 4
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Direction (Q. 91-95): Qut of the four alternativ

phrase thatis most nearly

Q91) FAITHFUL
a)  disobedient

Q92) REPLY
a)  answer

Q93) SOIL-—
a) sky

Q94) TEACH
a)  guide

Q95) UNEASY
a)  disturbed

Direction (Q 96— 100 ) : Out of the four

thatis most
Q96) HAPPY

a)  serious

Q97) SMOOTH
a)  risky

Q98) ARRIVAL

a)  return

Q99) REWARD
a)  harmless

Q100) CHEAP
a)  costly

b)

b)

b)

b)

b)

loyal ¢ lawless q)
ask c) inquire
village c) eax.-th
follow ¢)  learn

calm ) content

nearly the opposite to the given word :

b)

b)

b)

b)

silent ¢ bored d)
rough ¢ dangerous d)
coming 2 departure d)
punishment ¢} coward

less ¢} enough D

es choose the word /
the samein meaning as the given word :

rebellion,

d)  examine

d  sea
d) imbibe
d)  quiet

alternatives choose the word

sad

meet

d) rule

sufficient
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T Al [Answers [SiNo: Answers—|S:No. Answer S.No._____|Answers ?’,\7 I_ e
fl1.. A~ |26 C — 51 C. (76 g~ : o
A2 c— 177 B = 52 A= 77 B
ff' 3 B " 28 c — 53 B -~ |78 ¢~
y 4 - C .~ 29 B~ 54 D - |79 D—
w455 D~ |30 A — 55 B — 80 C.~
16 D~ 31 G 56 o |81 T i
7 b~ 32 D 57 D — 82 D~
8 P~ 33 B — 58 A - |83 e
g Y c__ |4 A~ |59 b |84 c,
10 A - 35 g~ |60 JC— 185 A
11 B ~ 36 C -~ 61 D — 86 c -~
12 g8 ~ 37 B~ 62 —fc— 87 A~
13 A -~ 38 A — 63 D~ 88 B
14 D~ 39 D — 64 B~ |89 D"
B = 65 E—= 90 C
B~ 66 c~ 91 B~
D - 67 cC -~ 92 A~
lc - 68 To=""""1e3 =~ [c~
A - 69 c ~ |oa A~
e~ 70 D~ |95 A - #
D — 7i 6. 9 DL
A - 72 D~ |97 B~
D — 73 c ~— |s8 [
D~ 74 D~ |99 B_
Simeem pnaEe == 100 Ao foe






